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- 1. Fillin the blank with correct preposition : 6. TH RE] msﬁ ag 2 15w %ﬁ' é‘:
1 have never looked on a face that was so HeH 10 T
devoid ___feeling. ugl U | ﬁ@: ? TR R
IA) by (B) in gredfas gad F41
(C) at (D) of A clock is set right gfq %aﬁrrl;- Ehﬁacla;k
2.  Give synonym of underlined word : Eiﬁ:- ltg_'lﬂﬂfiﬁﬁlen e clok mdfc:';l;
He sat there disparaging about the legal 1p nf on the following day ?
system. g 47 min. past 12
(A) Praising AB) Criticizing (A) 12996 47 fre/ P

(C) Lecturing
3.  Give one word for : :
The original inhabitants of a country.
(A) Strangers (B) Aliens
££) Citizen ) Aborigines

Read the following paragraph and answer
the following questions : (Q. 4 and 5)

(D) Belittling

In the United States someone legally

becomes an adult when they turn 18 years old.
At 18, U.S. citizens can vote, They can also
serve in the military and go fight in wars for
the country. An 18-year old can also buy
cigarettes and other tobacco products, but 18-
year-olds cannot buy alcoholic beverages.

People in the U.S. need to wait until they are
21 to be able to do that. i

At the age of 18, people can legally live

on their own, work, and get married, However,
turning 18 doesn’t miean everyone is ready to
take on adult responsibilities. At the age of 18,
most people are just graduating from high
school. Many will go to college. Some young
people choose to go to college far from their
homes and live in dormitories. Others pick a
college close to home and stay with their
parents to save money. Yet others will choose
to live on their own. Legally, a parent does not
have to provide for their child when the child
turns 18.

4.  Which is correct from the followings
with reference to U S. ? :
(A) Children must leave their parents
even after 18, ' ;
(B) Children must
parents even after 18,
(C) All are incorrect

Children may live with their parents

even after 18,

5. In U.S., what is the minimum age
 required to join military ? '
4A) 18 (B) 16
© 19 (D) 17

live with their

(B) 12 Wt 45 f2 /45 min. past 12
(C) 12 7Rt 46 82 /46 min. past 12
D) 12 T 48 fire /48 min. past 12

7, gfe et e 3 TR Fafemm iy

8.

9.

Tt 3ifom & gE T W I ?
?t]qthe wnrds_gtg: arranged according to
the dictionary, what will come in the
second place from the last ?

1. Spastically 2,

3. Spastici 4,
Spastic

modical
‘(?? gggtiﬂaljy ‘ggg $
C) Spasmatic Spasmodical

FER 6l T Ul H, @t IT H IR e
fhugu i, Pl e BN | oF MR W R 3t p2
TEBRA 1A WA RE | Pl IR P2 F i
THHTE | P1 AR P3, PAR TR gl w ¥ |
T Shifre 25 fen 3 foree e E 1

In a row of Pigeons, all are facing north,
P1 is 9 from the left end and P2 is 12%
from the right end. There are three
peacocks between P1 and P2. P1 and P3

-are equidistant to P4. Find how many
Pigeons are there in the row.

- (A) 18 :
(B) 15
Le) Tt 7t e < wrehan/

Ean’t be determined

Spasmatic
Spastic

T R WS ¥, PERMUTATION &I
IBKFRMXMFLG ferat wmm & | 33w
H PUBLICSECTOR % #3 v s 7

In a code language, PERMUTATION is

written as [BKFRMXMFLG. H ill
PUBLICSECTOR be Written asﬂ; Elat

B) ICUFEVLBVNLK
IRUEFVLBVMI K
WD) ICUFEVLBYML

NP1
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10.

G2

TEAQFR IR R # | 3
mﬁmﬁmﬁmgmmﬁ
1 HHI HT & TS W T K | Y
gt w ¥ ok Pl § Ry
mﬁﬁiﬂ:mmﬁmﬁﬁ
YA % o= T B A D e g |
YT :

L T S A wra
W F RO @ Wy i
SR 3 1 ok e |

I TSI TR A 39 T4 % vt w)
T % Afewe Fias! A @3 § fir

AN FEAUS R |

(A) 31 wu= T 3R
& INE 2 | .

(B) gm:m%aﬁtmnmm

1
(C) T Y [ 3R 11 Wad FRv § |
(D) FY= 11 1 8 3R FYF | 3551 9"

2 el

In the question two statements I and II

are given. These statements- may be

either independent causes or may be

effects of independent causes or a

common cause. One of these statements

may be the effect of the other statement.

Read both the statements and decide

which of the following answer choice

correctly  depicts  the
between these two statements.

Statements :

I.  The Government has decided to
hold a single entrance test for
admission to all the medical
colleges in India.

II. The State Government has debarred
students from other States to apply
for the seats in the medical colleges
in the State.

(A) Both the statements I and II are
effects of some common cause.

(B) Statement I is the cause and
statement I is its effect.

(C) Both the statements I and II are

independent causes.

(D) Statement II is the cause and
statement I is its effect. '

u-%ﬁﬁm'w :

relationship

7

3

12.

]31

i L M TR A W BT

- work together

T H, Tt A ST we s
(GrefietaTR) 3 W q@WTe wErE
qreafyes awa o fmeef 3 Frafy P %
R Pt § @ B # o
fRa e 7
Recently, ~National Commission for
Protection of Child Rights (NCPCR) has
developed which among the following
applications for Seamless Inspection for real
time monitoring of the Child Care Institutions ?
(A) MCTS (B) MAA (C)MCH (D)MASI
U g ol
. g AETAIhIET,
SwmigonT 3R @S F9 T agEn
M 3R iféat % L
% 289 ¥= @ wrefe qRurm 9TH w & forg
firerert s e o witrargan s R 7
£A) T 3@ T (1) (B) FEmE
(C) S (D) Ture
Recently, the leaders of India and which
among the following countries committed
to enhance cooperation on climate ambition,
‘decarbonization and clean energy, and
to ' have meaningful
outcomes from the 28" Session of the

UNFCCC Conference of Parties ?
(A) United Arab Emirates (UAE)
Japan

;(B: Singapore |
(D) Nepal

_ A oddt 2020 TR ¥ fm a8 F
TR R Touiwsar R SEeEt S g
FH F WY-TY WA "ehfas amr i

gﬁﬂﬂmm%ﬁ-ﬁm%
AT Nﬂ%?,mm

- J9T (MOU) T 5781

(A) Hrefieas (CBSE)
(B) ITETHUSANTEE (ISLRTC)
Ae)  (NCERT)
o 3 MOV

signe with NIOS to
share expertise and resources, as well ag
cnédevcélop %uallt}f leamir;g resources in
Indian Sign Language on the occasi
3 year of NEP 2020 Eﬂlebl'ﬂﬁﬁnsa.s ot
(A) CBSE (B) ISLRTC
(C) NCERT (D) IISC

IO
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14.

15.

16.

©

W SR 3 2030 w6 ot ot |

) frierll 15% % 9T I TEd W1 & |
(A) "R Tl (B) WTHfr
£C) = fga (D) et

The Government of India has set target

to raise the share of ____ in the energy

mix to 15% by 2030.

(A) Solar Energy (B) Natural Gas

:C} Hédm guwer (D) Coal

S TR T e v
GE]

R NAPS (e ansifemR s

e AR ziaw)

(A fE I (B) 5 wilg wum

(C) it e i (D) 4 &t . 3R, grmmwam
Who among the following recently
launched DBT (Direct Benefit Transfer)
in NAPS (National Apprenticeship
Promotion Scheme) to strengthen
apprenticeship ecosystem in India ?

(A) Shri Piyush Goyal

(B) Shri Dharmendra Pradhan

(C) Shri Ramesh Pokhriyal

(D) Shri B.V.R. Subrahmanyam

et 38 b s e

HramwomH 7
A)SSIES (B) =R (C) formed Eca)ﬁs
ch am the following countries
declared National Emergency due to
spike in Guillain-Barre syndrome cases ?
R Israel sﬂg Myanmar
EC} Zimbabwe D) Peru
wRa % frefafea § ¥ fre W@ R =

R 1 e afes arepls fm

AB) TIEEl ’
(C) ST (TS RN, TERg
(D) Tt tord RV, AU I
Which among the following railway
station from India got UT;ES%Q;S Asia.
Pacific Cultural Heritage Awar

Railway Station, Telangana
& Eﬁc\ﬁ;ﬂ;lllw?sﬂn& est Ben

culla Railwa

Q) By skal Railway Station, Andhra
Pradesh

et # TR T g
Rl b S R |

20.

21.

e & T it € |
(A) Fr e B) ﬁa‘;?;ﬁﬁw
) arfeen (D) e
Give name of the pnpullar hill fo
{ocated in Sahyadri Mountain Range thy;
s known as “The Eagle’s Nfﬂf”v |
(A) Kasa Fort E[ng %h;l::;im
C) Rangana Fort i
ém)x & & i I 0, At SRy
R ¥ Sehell B3~ T U foha
S W % Frered 3 @ hE o §
UDAN 3T 35 a8d & &1 R-3Tg R 7
(A) anfsm (B) Uf¥a™ st
(C) HfoTg (D) BefETE
Recently Minister of Civil Aviation, Shri
Jyotiraditya Scindia has  inaugurated
Utkela Airport that is a regional airport
under the UDAN scheme in which of the
following states of India ?

(A) Odisha (B) West Bengal

C) Manipur (D) Chhattisgarh
s o sr 35 P 3 &
U=y 3 rEgEt ndn 1 “feg e W
afafeig e A .
(A) et (B) & wifdreh
(C) rert (D) Wit '

Which of the following states. of U.S.A.
has declared month of October as
“Hindu Heritage Month™ ?

(A) Florida (B) San Francisco
(C) Ohio (D) Georgia

g &t # ffofea & @ fm 2w 3 O
W' THE Th WEd Uaies s
AR AT ! g ok Pfor e d 7
(A) WA 4B) vt |
(C) Siefg (D) Jrefemn
Recently which of the following
countries has designed and manufactured
an autonomous robotic undersea warfare
vehicle named “Ghost Shark” ?

(A) India (B) Germany

(C) New Zealand (D) Australia

NP1
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24,

o A v

T AT | R

R et 35 T Y T

TR g9 e S0 9 afe R
VYT WRa % Pefofes o ¥ fg
T /St wew & R & 7

(A) Fies (B) T (C) T30 (D) war ey

Tamia Hill station that provides stunning
view of the horseshoe-shaped Patalkot
Valley is situated in which of the
following States/UTs of India ?
(A) Karnataka (B) Goa '
(C) Puduch (D) Madhya Pradesh
Fr=ferfaa § & form ad d wa st =
&A1 T WfleR (TR T 7
India became a sectoral dialogue partner of
ASEAN in which of the following years ?
(A }ﬂ% T(%; 996 (C) 1992 (D) 1995
%ﬂt qTEfs ®E % 8 g
¥ P wde i T R | =
TG % forg g R T R ¢
The Tenzing Norgay National Adventure
Award is the highest national recognition
for outstanding achievements in the field of
adventure on land, sea and air. What is the

27.

ks b g A A, e ek T

Gs w&

PRTERTITE EL RS LT

Profefe 2l #t I TP &

gafera $if :

(i) sifRmm - (a) &&™

(i) = (b) ™I

(iii}f?;r = (c) g

(v) 7gtq - () et
Match the following countries with their
capitals : A

(i) Zambia - (a) Havana

(i) Cuba - (b) Manama

(iiij) Rwanda — (c) Lusaka
(iv) Bahrain — (d) Kigali
(A) (D)-(d), (ii)-(a), (iii)-(b), (iv)-(c)
(B) ()-(b), (ii)-(d), (iii)-(a), (iv)~(c)
B rasaeans
1)-(b), (11)-(d), (m1)-(c), v)-(a
3R o T AR SR WG
Yo T 6 The HoT & | T8 WA B
feffsa i d R o fism 7
A) Fifemm (B)
(C) =i (D) dafeHTg
Jhoti Chita and Muruja are white art to
create beautiful patterns on the floor and
walls. It is an art form of which of the

cash prize amount for this award ? following states in India ?
4A) 05 TT@/Lakh (B) 15 &T&/Lakh i | (51 Keuala
(C) Chhattisgarh (D) Tamil Nadu
, (C) 20 ¥1@/Lakh (D) 10 @@ /Lakh 20, m%‘qﬁﬁ & HTH
(@ mm%aﬁ)ﬁaﬁﬁﬁa%; lﬂaﬁﬁ’ lgmqﬁmﬁaﬁmm
Ffyre 1 wRfE e e wite 2, TEE SR @ Hefa TH SAETE W
Fraferfea & & foreds gro e mar o 7 & mn o | wdEE § AE Suwen w5
(A) FHTH (B) & e T & W T 7
© Fepm D) Med - (A) TS SR TG
Nitisara (The Elements of Polity) which _(B) WA Ee- i derm
contains the earlier foundational root C ‘Tﬂ?ﬁﬁ m ﬁ‘ﬁlﬂ 3?"{
text of Kautilya’s Arthshastra was © = stenfiveR
written by whom of the following ? SR o
(A) Kamandaka (B) Vir Sena g}mﬂmtr
C) Vishnugupta Sri Harsha € WOrK of the rigonometrical
26. %w-ﬁ%vﬁ‘aa %upﬁ ﬁgrj )m fea ® o= Survey of India commenced at Madras
. R on April 10, 1802 when a baseline
éa‘q% sng;ﬁﬁ BIH:'_% R T measurement related to the Madras
Y H HET WG 8 7 longitude was made. Currently that
AA) 13 AT (B) 31 Madras Observatory is known by which
(C) 13 gt (D) 11 name 7 '
Which among the following days is- (A) School of Planning and Architecture
celebrated as the Intemational Day for (B) Indian Institute of Astrophysics
Natural Disaster Risk Reduction every year ? (C) Indian Institute of Space Science
(A) 13" August  (B) 31%October and Technology
@ 5 NP1
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ﬁnﬁmﬁﬁﬁm W T TR
= DBOT (FestmeA, ﬁ';f;l o 3R

%ﬂmmmﬁ?

(A) 79, foasaqm

B) SHTEER I8 et R, iy

i) wiwew wKRer ToRE

(D) weTe it R fyaw, e

Which among the following is India’s

first DBOT (Design, Build, Operate and

Transfer) mode! outdoor stadlum T

(A) The Sports Hub, Thiruvananthapuram

(B) Jawaharlal " Nehru International
Stadium, Kochi

(C) Kozhikode . Corporation EMS
Stadium, Kozhikode *
(D) Mahatma Gandhi Stadium, Salem -

mmﬂw@wﬁﬂam
AT : (3.31-35)
iﬁ‘@ﬁ'ﬂﬁ 3 fgm, weard ik
o= | W T H srﬁﬂ%ﬁ'-mrﬂa:@
mﬁfﬁaﬁﬂmaﬁr fﬁaﬁ%nqaﬁas
g;n@tﬁ%%aaﬁ e TR
%ﬁ‘er%m %%Ww%%aﬁm%
a‘lﬂﬁmtﬁ#&ﬁa’nﬁ

RGN AT gﬁﬁﬁmﬁﬁ?ﬁﬁﬁiwqﬂm
TR A A E o €, R et @ et
gﬂﬁmﬁrﬂ TN, AT, 7 9w
w$t T fireft g quedee @ |
31, ‘adw A ¥ gEek @ B ar o
S T R 7
(A) @ o & |
(B) %Wml
i
p}ﬁ:&ﬁlﬂﬁﬁ?ﬁﬁML :
32, ‘NI TR R 7
(A) T otk foen (B) s9mm

(C) et (D)
33. oGS I W

#, sforn 3 arga 3wt wga @ FER-on
LR S
(D)
%1$ Hm 7 B
34, aﬂwﬁmzaﬁmzfﬁ#ﬁﬁmwﬂ
Je) RET T W e X Fod w5 et
ST SRt i 11 e R |
(B) FHifs Hisq 3 wEVRA % Ig § HRar
- Hugdyg e
(C) ¥ % W T T ShT ST g3 o |
_mmw?a&:amammﬁ
AR 3 g 71 fam |

35, S = Fra quriey & Trd frel 7

(A) %@ﬂ:%m‘{a@aﬂ @
o TIEY 51 A TEd Tt |

(B) %@ﬂa%ﬁaﬁﬁhﬁmﬁtﬁaﬁ
et g ot |

(C) ¥aw % firs I arereen & w12 § 3l
AGE F1HHE HH@ Y |

(D) & sy T § oft I 3 1§,

T, gfevn o wga 7Rt wma & w-
gwh?hﬂﬁiq% :gwm
‘W@lﬂﬁﬁ Waﬁql

o
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T Faw sl w1 g ) ol e
T s O 2 9w e %Eﬂﬂ

ureaitw it et &t amnat o qere e

mﬁgﬁqaﬁmmﬁ-ﬂﬁﬁmﬁm
qHdr e | :
F9-99 A # §e I, au-a9 faefiEi 3
e T | =18 Wi Yo & A svTe-
wau =fe 368 oY IS FT ET TeT HUT |
AT 3§ 3P FHR & HAfelerd o @ & | Fa
U B AR T B R A wE ad wm dm F
T 9 AP B fTen S @ @ R afomy
FUR AW 8 | et 39 378 § fmear - w
2 | Berka®y TS a1y %1 3wre wRafia 8 @
2 1 TR Ten 3 T % R wept %

¥ qe Heo¥l i HETehT ¥ o1 AT ! Tefd famm

&, da-a9 W H e AR, e, FHardw,
T8-I¢ 9 AT 9 ol A $6H B W
aret euif &1 g |

T Y TETE A THHA §C T HANG Y AT

36.

37.

38.

39.

,m‘ 3 foaa A = e
?fmﬁmﬁfﬂfﬁf
(A) g, Fdeor it fotr
(B) fordor, s ot
(C) @, i AR HAT
AD) @, fedrm k. @
‘srafdy’ weg # fra TR A @ @ 7

(A) s Efs  (B) TET ER
) fotdfs (D) wER
SIff A g Fa dgpfa @ 2 7

(A) v =R T’ BT W IR
TEH HIEar R |

m}ma%m%#ﬁm%ﬁ‘;mﬁ
o Frereh !

(C) v =, s, B e H
TO@ A TR |

(D) & TSR S H gHA * o
F3-9S TALHA B |

T TTES ARG % w9 4 gHR w@

. e 7
- v, wifa, v anfe % ges wadt

I YT TH gAY IR U3 =Afh

w AAS |
(B) &9 3wt wifa, dweE 3R fawelh %

UM F EH W@ U HAEH 1 |

(C) Bt ToaT TH S # A § Tl
fereft it ot FT A |
(D) & il 3 smvii = fererpet el
_.giﬂémmﬁmﬁtﬂﬁm

|

30 9T AT I THR F AR

T qROME BT R 7

 (A) ¥t ST I A ok sy

W I ARG ST JaT
HTHA T |

T % et Rra ¥y At o amaeh
(B}ﬁﬂafﬂﬂdamﬂ%’ﬁ

|
391 7 H1 GG Fe 9MRe, R gy ) et gon SR Ry fe W ¥ R
BR wfafafy sy % fore Fmfomoe fem 2 & | ﬁmﬁﬁmaﬁﬁﬁmﬁzﬁmmﬁﬁ
wife, v 3k 9d @ FR IeH AR Tt & weg et | oo
W & yifea ge foem wF foRegEs @ & (D) R ¥ TEHR w6
IR F 379 FEGT &7 91T | 1 G et |

T
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o |

ﬁmﬁhﬂwaﬁﬂr}m@ﬁmﬁm
Tl % IWE ¢ (V. 41-45)

4
4
A

i TR T TR H INFA §
e T A X T (ST ) H e T g |
ward (e ) i fawde feem & amn

4

Study the following line chart carefully and
answer the questions given below : (Q. 41-45)

Below the pair of five trains are given.
The sum of lquﬁﬁif each pair and the time
taken by trains in each pair to cross each other
when 1:;!1u.u=;llu1%l in opposite direction is given
in the line graph.

Length (in decameter) and Time Sin sec.)
taken to cross each other when travelling to
oppbsite direction. (1 decameter = 10 meter

. =#— Time —#—Length

25 A

12 10

== BEBE&EBS 288

A+B  B+C C+D DFE  E+A

4. ¥ AU H CH MM FA A o ™
awa T Hi Afg F T & feww & FmT
T |
Find the time taken by train A to pass
train C if they are travelling in the same
direction. -
(A) 86 ¥%E/seconds(B) 80 ¥ehS/seconds

(C) 73 Yehe/seconds (D) 90 HHS/seconds -

f2 39 B 3k 37 D gt fordia e # amm
F @ & T 39 g0 T G B IR F 3§
foran T A EHE A BN |

Find the approximate time taken by train
B and train D to cross each other if both
are travelling in opposite direction.

(A) 12.69 HehE/seconds 3

(B) 7.68 @

42.

_ seconds
(C) 18.4 §ehs/seconds
(D) 9.78 ¥€/seconds

4. 3R E Tw At G F <EE w5
50 ¥ & TR F@ 2 @ 7 D T
e =t g H@ # fern = gt
|94 @ T |
If train E crosses a platform of certain
length in 50 seconds, then find the
approximate time taken by train D to

' cross the same platform.
(A) 102.5 Hhe/seconds
(B) 91.82 H58/seconds
(C) 110.5 #Hh3/seconds
(D) 78.9 Hehs/seconds

3 A ge ¥ Reeht H ann @ A
aﬂ%iﬂbﬁe—vﬁﬂm?ﬁmﬂrﬂ
ot |37 A, 37 D & 2 W a1g wordht 8 | A
25t feeht & 297 el 1 i w e
i,?ﬁmﬁﬁﬁ?ﬁ%aﬁiﬂa@ﬁﬂqﬁ

A |

Train A was travelling from Patna to
Delhi while train D was travelling from
Delhi to Patna. Train A started after 2 -
hours of train D. If both trains meet at a
distance of 297 km from Délhi, then
find the approximate distance between
Patna to Delhi. : : :
(A) 489.7 Frfkm (B) 448.7 Ffi/km

(C) 529.2 fFfikm (D) 505.8 foFri/km

FBINFCRIMXARINY I T
TR 414 et B, T AR @ A |
7 2T 0 @ T WRIA Y R IgE Al

iR e 3 C F (@) e T
91E, 37 B A QYA X %! SIS 8 7

Train B and train C were travelling from
station X to station Y which is 414 km
apart. If both reached the station Y at the
same 1i:§1='then find after how much time
(approximately) of train C, would train

45.

B leaved st:atiﬂn X1?
(A) 5.965¢/hr  (B) 6.29 ©e/hr
(C) 5.12%¢hr (D) 4.87 5e/hr

NP1
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ﬁ’-gﬁ | 6/ = S5=L5°
PP ———— T e

A R st &6 3w § : (. 46-50) < W F g6 ) e TEE F 10%
FRforfrer o = fafire siiferes &l H YRa T R I AR & o nfgenait

1 ST 3 TRIaT (% ) 3 W FHHI ST 8 ¢ o saE 50 i R, & e # st

Study the following pie chart carefully and 6 por see o 8 7

answer the %;mﬂnns given below : (Q. 46-50) 0 1 ’

‘ The following ~pie chart _gives the 50% of the total population of west zone

information about the distribution of tion are males which is equal to 10% of the

(in %) of India in different geog phjm} ml: total population of males in India and if

the total population of females in west
zone is 50 million, then what is the total
population of males in India ?
(A) 550 fufera=/ million
(B) 450 fafer@/million @
(C) 575 Tafé@s/million :
_le D) 500 ﬁ%:?lifnﬁlliun ﬁ*
i ﬁtﬁw.%ﬁ $ ﬁf\;ﬁ%’m 39 R ey FIWE : (7. 51-55)
ST A (0T ) w1 R 7 ffifes ofee Rt agﬁﬁ EY
If the total population of India is 125 | T Twl W & T G % @ quidt & | woft

crores, then what is the approximate sum

of the population of T Y T 1 3ifehd Jod G99 & |

of West Zome om0 South zone and that § Se gy the following table chart carefully and
%Ag 62.13 - _%% 48.75 answer the questions given below : (Q. 51-55)
C) 42.17 52.67 The following table shows the discount

47. AR Wwa ¥ T 8 ) o T 126.5 | o von by different stores on different books.

B, T WRa F 390 & N B &%g::md price of every book on all stores

: SaEE o R R 7
: ‘2‘5"’!:!?6511' the total population m jc?ne of g&ih/Books il
172 1o angl;ﬁgg-ﬁmﬁltm then what is the 1 |1 3 | 4
;r zone of India ? (in n?i?ﬁananm oeAorth = 14% 25% | 18% |
2 A) 90.62 s)n 96 B 16% | 14% | 10% |
Icy. | &:} 13.20 3 101.36 C 12% n 10%
48. m%mmwm el D 6% | 9% :
1 T e & R wRwa w8 7 51 15 g A 1 o ;
{4 The total population of north zone of' 1} et L TR 395 8 3
— - India is how much percentage less than 2 3R 3 ¥ o T W 3 T 36.825
2= that of the east zone ? , TP 2 F wm ge et wiea & 2
(A) 42% (B) 26% (C) 48% (D)36% The selling price SFbook A in store 1 is
49. W@ ¥ g:m wfkeal & AW 13 : 12 3395 and difference of selling price in
2ol S R W AR D | oo o penialy, s the
" ST 07 & | S0 8 3 ke EK§ 12.5% L) oo
2 =13 gEn vRa 6 wiEensl 6 9 d e w C) 11.26% .%% 14.13%
F i~ .ﬁmmgﬁﬁlm%i{ et 52. M 2 3R 3 # T B % 3Ed famy
In India, the ratio o es to females } .
13 : 12'and in central zone, the ratio of “‘H”ggﬁlg"”ﬁg“'ﬂ‘ﬂ*'ﬁm
males to females is 9 :'lwhaz number of aﬁeraée selling price of book B
females in central zone is ' ce of bi i
e total mumber of females of India 7= store 2 and 3 is § 'S94. What is the
g1l 8162 (©) 1622 )12 1L g price of book B in store 2 7
}4‘3’}’1 ag (B) 1636 )16 45 D)12 3¢ '{é} 5765 fg; 7 508
o 9 2 NP
V) MP =33 Ly 1
F2un “@L-rwgﬂz ’27:*% o
.?:—'-—_.Eg"f Th (= /aﬁ;%ﬂ—ﬁ | 214 “.:h: 395 x/0g

_ o Ly
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g .
_q..-'--'"-“'!u-—_

o e L T

G Jwen T

-

W GHM 1 Hl 10% 1 @ b X BT
Eﬁﬁl%lmsﬁwqt 3 g W feRan ﬁiﬁwﬂwﬁamwﬁ“ﬁ
RIS ST N S A T % 3R 25% g
o & 12%, 16%
0 (ﬁm" T oTifend i ) e =i faedt W e
9 ,:" Bysemngbcﬁkﬂstnmlmakesapmﬁmf oft | 5 H£ifa |
TN 1%, What is the approximate profit/loss ﬁ“ﬁlm unt paid on Phone
. e that the H.I.I'lﬂ .h-
v by store 3 on the same Gi icity bill and Water bill by
bmk?fandoﬁ‘tonearmt integer) bill, El‘?“tflq?the month of June was
3 W% B) 1% (C) 6% (D)2 famil sefby’lz%. 16% and 25% as per
54, Wzaﬂraiﬁbﬂ@mﬁmm the data given for the month of May.
: - | unt paid on all the three
¥1,480% | I D 1 aifte qeg v g 7 Find its tota maDU pav
© average selling price of book D in bills mtl;e m{' 112662 (C) 2356 (D) 2672
\%  oS10T€ 2 and 3 i T | 450, What is the (A) 2465 (B i A S Ny
<\ marked price of book D ? 57. WAl HIE ° a0 &l 3
YWA7  (A) 71,750 (B) T 1,800 - ﬁﬁgtﬁaﬁ'{ﬂﬁﬂ%
< (C) T 1,600 D) T 1,940 ﬁ% LA ﬁl?ﬁ q% ?ﬂ?ﬂ?{ EIRIE
55., GHW I&TH ot TfSr % <= e a7 .
o o b i %ﬁatisﬂwdiffermcebem%enﬂwtmal
WO\ T3 28 9w R e 200 amount paid on Elecricity il by all tree
| PH 2 5 s g wmm R families in the month of Fe e
VI \se %ﬁh 'Zﬁ o 87 tutallfnénnmtpaidnnPhoneb'lsb}'aﬂ
3 Ratio of discount percentage on book C Farmili the th of April
ﬁ store 1 is ¥ 220, then what is the approx (A) ( (Y
ing price i 58. W=l R TR A iy
S selling price in store 27 :

' (A) T (B) %230 mmﬁmﬁwﬁm%mﬁaaﬁ
- (C) T279 4D) T 198 ﬁam&ﬁmaﬁrnégﬁwﬁr%
77 ﬁwﬁmwﬂmmﬁm I S R 7

= S H IR (%, 56-60 What is the ratio betw the total amount
fegme JEG : (3. 56-60) total ai
5 paid on Phone bills angd Electricity bills for
iR arfter 5 i 3 fore 3 qham the family who js ying the highest
% B faret (p), fareft foret (E) ok orft & R agmuﬁng l.n?llanuarynn lectricity ?
g?u}da;tﬁ fo?om{mrmaﬂn‘g :careﬁuly and : }Cg 2:5:". D% 33:54: 435
Yy the syt
answer the questions given below : (Q.56-60) | 59 RER ‘X’ zrg T F Tt o P
The  following table shows the amount of Tﬁﬁﬂﬂl‘ﬁf“‘?@n‘?mqﬁhﬂ;ﬁﬁi
hills(in?}afBfamil@m,Phonebﬂis(P).Elacmmty W IWH # g e ufyr @ fra
bills (E) and Water bills (W) for 5 months: - i/ 2 7 @
TfEwR Y / TR Z / The aver ; : ’
wfy | SREX/ P Famiyz | TV b famﬂag‘fxa{“%uﬂt Paid on Water bills
Family X amily Total y y how much more/less
M S TR WP T 5 E|W thaF the average amoyng paid by family
0 1400] 000] 550 | 1000| | 500 |1500]2500] 1000] 11250 *Y’ on Water bijjs 9
Jas, ; AA) 210 (B) 220 (C) 190 (D)240
oV 11400 1100] 600 |1200] 1soo] s00 [1350| | 950 | 10100 60. WiY‘mﬁﬁﬁﬁiq{msﬁmﬁuﬁT,
T fau TR et farreh T
™ 11500] 600 300 |1250| 400 1200|2400/ 250 | 8500 B et w
March TS TR J ey Wirers AR 2 7
el 2500| 9501500 1600| 500 |1500 1250 350 | 11400 The amount paid op Phone bills by
= | amily " is approximatepy more than
1100]1500{ 1200/ 1400{ 1150 800 | 9450 what percent by its amount paid on
ay Electmilty bills over the given months ?
Toa_|#050]4100 i s (4) 18% (B) 12% (g) %]5 (D) 15%
—— 1 P e iy oy o g o ST B ﬂ
NP1 l{so LSas 10 . 3 32 e gF
a ¥4°00 (6= " rcﬂ‘:m 9 ‘;_l::; ; nﬁ = = =
: —s O W) o°- o Y
¥y s T * T ATy geoen e
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61.

62.

&

- includes deposits of Hakra Ware that is

€ went to Bodh
- for the fina] realizati - s

ITHEHATHT HT TS A+ TITEH,
R, 891, TAE(AE) 3N I9% W= &
Wi & Fafta @ o o srewdt %
B ST ST R
(A) qEe (B)

C) e (D)

volume of Akbar Nama deals

with Akbar’s administration, household,
army, revenue and the geography of his
empire that is known as Ain-i Akbari.
(A) First (B) Segnnd
(C) Fourth (D) Third

v # R fee ww ww § g
TavTe % srew i § S fig W w
F AT WO A e H gEEe h

fowa 27 +

AA) T 4B) wieiE

(C) g (D) Hhemey _
Which Harappan site located in India

gpv:a‘: of settlement dating back before
e early

hases of Indus Vall
Civilisation "p ' %y

EA} Rakhi Garhi (B) Kalibangan
C) Ropar (D) Dholavira

AT ST R o e fergred

sifem Il % fre e '
o S

AC) gheath FIm
Gautama Si%tFl -

( ! a (Gautama Buddha)
is believed to haye piously meditated at
which among the following places for
SIX years before |

on ?

. (B) Sarnath
eshwari Cave (D) Kushinagar

Frtifen 3 3 < @ H
T oy 7 b

(A) TR _qy e
© T () g

Which among the following was the first
capital of Harshavardhana 7

(A) Patalipytra

(A) Lumbinj
(C) Dung

65.

67.

68.

Which of the

(A) "o

(C

A

5 a‘gvﬂqﬁigﬂﬁﬁ@ﬂﬁmﬁm
WW) Y HEUET A1 | 98 Wi ™

# ¥ form v=a /e wem |
e ?
(A) Pifem (B) SEr@
(©)

4D)
h Chadra Bose hoisted the INA
?‘llsh}{:tshinirang in 1944, In which of the
following states/UTs that town is located

now?
(C) Mizoram (D) Manipur

Frafofen § @ $F @ 18 thefes sad
' Eﬁ%mﬁmw%mﬁﬁmﬁ
et ot 7

(A) FERTE - (B) e T
C) +fF T _) T ar 1d

following rivers was
historically known as the Bantwal River

in the south of Karnataka ?

EA; Netravati River B% Gautami River
C) Kalindi River (D Ponnaiyar River
1851 ¥, TR e wid se@sht 3
Frffea

AR R
O o wmi e 3 el 3 wa o R ey

(B F

4C) Iag (D) it

In 1851, the Governor General Lord
Dalhousie described which of the
following kingdom as “A chtm% that
will drop into our mouth one day™™

A} Satara Kannauj,
Awadh Jhansi

T TS aiEem § N @iy
HATE! A e gt feam 2
When Congress ministries

durinF the Indian National Movement ?
938 93

1941 % }943

1942 ¥ fie wffe g et st sitrg

% W TG FH F WE T F R

T8t T S T

£A) MEwE fFw B) e

%:%aﬁmzﬂa (D) wiie feafererm
0 was sent to India in order to try and

forge a compromise with Gandhiji and the

Congress bmestﬂpChurchﬂlinl?fu?

g‘zjgéir Stafford Cripps

B

C

resigned

Thanesar ord Mountbatten
(C) Vaishali E%% Magadh Lord Linlithgow - h
® glsp NP1
E - -

whs|

3S

Lrf A

11
%% 1 x 11 “/ﬁié'ffﬂ 7

prd
L o



https://t.me/uppcs1

T 1 e B

sl ] e PR |-J4I'---#JIIF_F-;I%.'¥ i ﬁ ﬂ m

Y s o |
P 36 W 3 R o |/ a7
mﬁﬁnﬁmm'“ (A) e 3T (B) fmmee e
ST o 7 ™R () TEE D) IS
(A) fEm ® Milam glacier is located in which of the
L€) IAm ) SR following states/UTs of India ?
Indian  Muslims wese ‘fkgﬁ‘i’i (A) Jammu & Kashmir
| Khunshhfl:rlbe allowed to retain :nnl}t}:{ mtg % I:;Tdaalfhhal Pradesh
Im sacred places i :
known hEﬂﬁh' hi '::ﬂpﬁ :-rr:sm;ﬂsg (D) Uttarakhand
(A) Qm; chﬁft?gfﬂgﬂwingnumvz? 74. ﬁwﬁtﬁﬂﬁﬁaﬁuﬁaﬂn WA 6 9y
’ (C) Ottoman (D) s:;;?;d mmaﬁm%, Fuld 98 uRa
L YR e sy (AN.C) 3R e T et Y At R 7
e Eag:' Rl {g.I.M.L_}'a; g (A) tﬁm(ﬁmﬁlmaﬂzﬁn
m%qmimﬁqﬁﬁﬁ%m ®) T (e e R SiT)
- S 1 ST (C) 3T et WTEE TheHT
&(g; z;ﬁﬂ?z, 1916 D) Hiegmam-gAdius
THR A (e Gifvere SEed)
(C) T 3 5w Fﬁ‘l’l‘lﬂ), 1935 E&h::,}; Gf the fnllnwmg ms_tmniﬂﬂﬂs ii
. & 1 e P time keeper, i.e, it monitors
(D) SR e e, 194 Ty oftme T
i , 1931 : .
The Indi - | hysi
md. e Allg it Tea L) ) A Rescarch Lebortury)
(AIM.L) decided to come together for (Indian Space Research Organizati
the cause of India’s strugale gether Ior - ; (C) Indian National Science Acad o)
British through the famous against the (D) CSIR-NPL Academy
(A) The Lucknow Pact, 1976  (CSR-National Physical Laboratory)
(B) Government of India Act, 1935 5. ¥R W1 YR weers
(C) Ingress into India Ordinance, 1914 A e o= = w=@
(D) Gandhi-Irwin Pact, 1931 u'-ramqrg?mﬁ 8, Ty e
72. FB WH W T aaﬁnawﬁ%m LA) 75 =
’ : 'ﬂﬁi 2
gl <t ot % ofte o B @ 1 3@ e (B) BSWﬁﬁgﬁmz
A9 & TSR 7 (©) 70 =1y
A) TfioR/3Iwied st fepei2
(A) / (B) f&n gon vw (D) 45 =afFq wfy fapefy2
AC) Sty (D) T ST The Thie Deseet-of Toks &
At some places ground water is stored densely Populated Hidia iy 8 00
between layers of hard rock below the with what Pﬂptﬂaﬁgd?m ‘_in the world
el S i
(A) Geyser (B) Seeped A People per km?
(C) Aquifer (D) l-ln::tpsl:u-inguEl g';) 70 people per km?
) 45 people per km?
NP1 12
___-ﬂ-'"a—
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76. wia it % v A HYV o v &, R | 78, Tty e s e (NIBM) R =
“aweenrt offw” of e o ¢ 1969 & Prfaflem # @ fredk gr, wa
(A) B 30 Ree (8 dies drad) TR % e A, #F e # e,
(B) e 37w firew (wmefirs fiee o) e, Rvegn oA e 3 g o s
(C) ¥ Iuw firwan (¥ rem Aftgym) ¥d sodgd |$wﬁﬂﬂm !

_(D) I U qreht Reen (wme diee Serd) (A) -:?I:TCL!)" R T e feftice
With ‘refercnce to Green. Revolution (B) T &% AT i (RBI)
what is HYV Seeds, which are also ©) ¥ ¥ e i 4
called as “Miracle Seeds” ? . b
(A) Homo Yield Variety 8 3T (NBFID)
(B) Hybrid Yield Variety N(DL“*:”F f“hﬁﬁf ;‘Tﬂk 313:" (EXIM)
(C) Hetero Yield Variation Sdfa L MO anagement

A A ) tablished i
(D) High Yield Variety - w{NiltIiEfI:Ef ?EE fg?lnwiﬁgfdirl Igmlsgu?tgang
i Wl ' i

77. 9% ghifean w0 & fora 6 <froed = ey aut_onor:nus"vﬁ:?:m ?rfsn!::luc:;ffnas f%l:
SUNIEIISAT T TEEET W, TR I U research, training,* education and
TATETE. A ; : - consultancy in bank management ?

-0 it (et @@ (A) India = . Infrastructure  Finance
nitsfafar st $it wren 6, S i %mpan}é ﬂﬁﬂt?iﬂ;{pa}
1 femwR, 2022 & woft sheed TwmET- (C) National ~ Beu ko’
3 . ank f F i
e (&4 sfefeatin) Reevract w1 Frwera s and > Development
Fov s g fovan e @ 7 (D) Export-Import Bank of India (EXIM)
(A) FmElta (et ford &) 79. 110 Gerardta Ao Y orafy w7
(B) WRA &1 I favrr ' mt?“fas the period of 11" Five Year
(C) Hreftamg (e Wit smim) (A) 2012-2017  €B) 2007-2012
AD) THE (C) 2002-2007 (D) 1997-2002
(T Iqviveren frame Framoor st 80. mﬁﬂﬂ?m'lgglﬁqﬁmﬁfﬁ
To ensure that the benefits of GST are AR (TR & TE WA FAReS
passed on to the consumers, the hrdshvt <1 e T o 7
govemnment established the National (A) henfies gur @
Anti-Profiteering Authority (NAA) but (B) FHUR
from 1" December, 2022 all GST (©) Wﬁgﬁ:{m U
anti-profiteering complaints are dealt by (D) TSN GUR
which organisation ? - :
. Which of the following was not a part of
(A) RBI (Reserve Bank of India) the structural adjustment programs under
(B) Income Tax Department of India tlh;Q ITN'T?GW Economic Policy (NEP) in
(€) CClI ,
(Competition Commission of India) Eg; !l',‘d“;t:’;l Reforms
(D) NCDRC (The National Consumer (O} Bilene of Pevisi( A dutinec
Disputes Redressal Commission) (D) Fiscal Reforms v n
P 13 NP1
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81 : -
. w s -
TR % ¥ T
{ir}gmﬁ ;Tmatﬂa?dlgmﬂiﬁ 85. mﬁ?ﬁlﬂﬁﬁﬁmmmﬂq
+€) ryein 162 /B) 31g=0z 170 (A) Trea 1 g
Which Artivie g o (D), TR 167 (B) =g % v 1 Fran @
defines th ¢e-°f the Indian Constitution £C) =1 forara
Atticle 167 *" tn yief Minister ? (D) % frgia
& A‘mclt 165 ED% Art;gl: }gg Lactometer works on which of the
» 13 ﬁm. 1946 §} following ?nnclplesflaws?
TR (R gfeum v # “Sew (A) Pascal’s Principle
39 firay frregym)” fred g (B) Newton'’s Law of Viscosity
P ™Y 7 (C) Bernoulli’s Principle
(B; SRR AEE (D) Archimedes’ Principle
TR FeerwTd T 86, . ‘Sl 3R fremer 3 forg et T wemf
Eg);ﬂﬁ'-ﬁm %w'mwmﬁrﬁmﬁaﬁm%
Q. . TR, ST foru R aftrfar ) fogemr b e 7
in Jﬁtﬁtwe Resolution” was introduced (A) T i fedh wT
o e Constituent Assembl (B) g afdfa
A) Jcember, 1946 by whom ? vy o (C) Rrauas afufy
(B) sﬂWaharial Nehru :
(C) Sardﬁr Vallabh Bhai Patel 'g?g T@ mm
D Dﬂfﬂjlm Naidu ich committee was appointed ‘to
) Dr. Rejendra Prasad prepare a concept paper.on ‘Revitalizati
83. fw srgede % | of Panchayati Raj Institutions . for
"t TG YIRS & AR [;fm“cf?cy and Development’ 7 olhan
R F o Rt R (A) Rajesh Pant Expert Committe
g R i,
ivaraman Commi
@ T (@ T 359 (D) L. M. Singhvi Commitee
() Tqa ot | (D) g 34y 87. Wi % fewif vy
sus%en]&l:gn?uﬁ?;ﬂl 11} i%itﬂ can also be ﬁﬂﬁ-‘lﬁﬁ'ﬂﬁ%ﬁ;aI!SJ ) % e
ARl e | O B h—
ios ) Articl 8
8 Andessd (B) Ana O™ e coalD)
84. ffew st T e g following metals ﬂ:f with which of the
g et Wi - WU (A) Iron By Mol
A iR (C) Lead Er% };’!agnesium
e afom in
44) T Mo aeiem 88. M % v e W 1 s
(B) WU Tier HeeH TR G & CO, Prperand 7 -
(C) Wra TR Afofam 1919 LA) S wEte ?
(D) 1 wweiar, 1932 (B) Anitfirem srfvemse
]"gh_e_ ommunal Award coined by the (C) Wrefirm wreke
ritish Prime  Minister  Ramsa (D) ﬂ&ﬂqw
MacDonald was the result of which g}% By releasi
the.fu]ldnwmg'? chemi INg excessive dry powder of which
A) 2% Round Table Conference mical near the fire gives o,
1" Round Table Conference A) Calcium Carbo OfR.00,7
g Government of India Act, 1919 B) Magnesium Oxl?gte
. Poona Pact, 1932 g Potassium Phﬂslj,':l'fat
e = - . Sodium Bicarbonate
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89. et th o o & 25%*4"@&%3 | T
C

~ 90.

) 0

01,

TiaR =t el o A g e
S Ty AF e wd 9 7
The price of Desi Ghee has increased by

25%. By what percent should a family
reduce the consumption of Desi Ghee so

as not to increase the expenditure in this

‘account ?

(A) 18% B 20%

(C) 16% (D) 24%

frefefem & & ((341)%1 < (625)17 x |
- (6374)1793} F vEse § whTE o o =@
7 & ;

Which of the following is the unit digit

in the product of {(341)*! x (625)17 »

(6374)1793y 9 5 '
(B) 3

C) 8 D) 7 _
AR 3R HiuweE (CFL) 3
ﬁnf%ma?ﬂr T a1y
(A) Tnes
©) TIwhm (D) T

Fluorescent tubes and CFLs contain
vapour of which of the following metals

___that is toxic in nature ?
“(A) Tungsten

(B) Mercury
(C) Aluminium " ' (D) Titanium
it #1 swm fAefifer & 3
for8 aaa S T e smen 2 ; O
4A) THEN -

-(B) TS ,

(©) I?Fﬁ_ _EI?E‘HE?IT i

(D) FTet ht Araeht gra e nfafafy
Sphygmomanometer is used to measure
which of the following ?

(A) Blood Pressure *

(B) Vocal Folds -

(C) Concentration of the glucose in the

blood

(D) Eletric Activity by Skeletal Muscle

1 9T BT & W |

9s.

96.

98.

99.

.......

@Y 7 A |

If (0.04)2 + (0.008) x (0.2)% = (0.2)Y,
then find Y.

k&) 7 (B) 17
(C) 6 (D) 16
IR 2+ 224324+ 102 =385, 7
32+62+92+ ..., + 302 TraT
124224 32+ . +'102 = 385, then
32+62+91+,....+302isequalm
(A) 1155 (B) 3465
(©) 770 (D) 2310 .
“STG1 ST AT HHAT HT
_ﬁ'ﬁﬁﬂ;ﬂ? i
AA) TR B) wemTwEr )
© T () =
A et e R o sEm 2 2
(A) Tremafy amw
AB) ¥Re gt |
(€) WA g S
(D) wfam =g

e Y- forede s it |
A) s +dm  (B) S g
©)-sWe+Tr - (D) s+ wm
e # 4 frm Rwey § oft e
Y ETE e § 7 .

A) faftrg, i, 35

B) Ty, wemm, armw
(C) e, fratu, argen

(D) Frwm, W&, Rren

100. P # & g R § 7 At

Premis m o od-Se it 7
T W FHY-3g

M Ew-EE AEE -

- WIS &1 =T
227) % (<16) + (-27) X (<14) FI AR & _
= %ﬂéﬁfe of}-zg}x(—16}+{)-—27)x(-14} ; (B) SETeT - S 4m - aw
4) 810 b -1110 © - o - g
'fé) 1110 . (D) -810 .{E}Wﬁr—m IR - R

15

NP1
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